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Functional Requirements

o -

oY
Ulo 10

-
% Ul

o1 H

o4 N
=

oll ==
ol 5

o

= ol

Kl

™ gl
Z_AT

A A

STE

10
ol __
K
= 03
<| <F

) ol
ol K0
o <F

A

mAT

A=
J|J ©%

o <k
= ol
BN
KK 0

) 4

24 AH
o /M

=




Functional Requirements
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Non-Functional Requirements
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Use-Case Diagram
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Describe Use-Case

Actors : User
Description :
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Describe Use-Case

Actors : User

Description
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Describe Use-Case

Actors : User
Description :
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Describe Use-Case

Actors : None
Description :
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Actor Action

1.20== 2

3.4=E AMH F

547 HE 22

System Response

2. 2002 2dst

4. A0 =0 et A NletHE 20 =),

6.2l M A Al

7.209= E2 DBUIM 2K

8.4HH 22 3tH &

=)




Typical Course of Event
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Conceptual Class Diagram
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Class Diagram
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